Billet Underbody

Tunnel Braces

MQB / MQB EVO / MQB-AO

FITTING INSTRUCTIONS

WHAT'S IN THE KIT?

1 x Rear Tunnel Brace (All MQB & MQB-AOQ Vehicles)

1 x Centre Tunnel Brace (FWD MQB Vehicles)

REQUIRED TOOLS AND PARTS

FITTING NOTES

> Please ensure that the orientation of these components is
correct.

> VWR810004 (Centre Tunnel Brace)
— Component fits FWD MQB vehicles only

> VWR810005 (Rear Tunnel Brace)
— Component fits all MQB & MQB-AO vehicles

V1.1 November 2021 RACINGLINE.COM




r ™
A
FITTING INSTRUCTIONS

VWRB100048&5 RACINGLINE

Tunnel Chassis Brace Application List

VWR810004 (Centre Tunnel Brace) — Component fits Front Wheel Drive (FWD) MQB vehicles only, please
follow Step 1 for installation method.

VWR810005 (Rear Tunnel Brace) — Component fits both FWD and All Wheel Drive (AWD) MQB & MQB-AO
vehicles, please follow Step 2 for installation method.

Step 1:

Installation of VWR810004 (Centre Tunnel
Brace) — Component fits FWD MQB
vehicles only:

From under the vehicle loosen and remove
4 x M8 OEM bolts. Once all 4 bolts are
removed the OEM brace can be removed
and put aside.

Offer the Racingline Centre Tunnel Brace
up to the vehicle, ensure the orientation is
correct, use figure 1 for reference. Once in
place, insert 4 x M8 OEM bolts and torque
to 30Nm.

Step 2:

Installation of VWR810005 (Rear Tunnel

Brace) — Component fits all MQB & MQB-AQ
vehicles:

From under the vehicle loosen and remove 4
x M8 OEM nuts. Once all 4 bolts are
removed the OEM brace can be removed

and put aside.

Offer the Racingline Centre Tunnel Brace up
to the vehicle, ensure the orientation is
correct, use figure 2 for reference. Once in
place insert 4 x M8 OEM nuts and torque to
30Nm.

V1.1 November 2021 RACINGLINE.COM



